EARAROBEEIERT — 2 N— IBISH —F

20185108110 (K) 12BA#4H

IR 5% 3% 1307k

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[A~&E£] 17 :1,400,000 § ~ 23 :560,000 37 :350,000 3

4 7% :210,000 B 5 j& : 140,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o EIREER :16. - . — AR (KF)
1158 HYIL—INTX—IL 3 54_0E 1(1_6)7 o w04 s (i?;) (#) 7Zx—I
RF4—TTUTLT BHLILTI— Al %—
. 43 | HEAEE 1:16.7 12-12 [38.9| — 6 445 | EER (KH#)
EE 2 IXTY<w—1 > 56.0 (74%) (-1) %KE%K
L:HT/RF47 B:vabIrI> RS
= 5 5 i3 | WHEE 1:16.7 8-8 39.7| — 13 | 440 |FEAE (KH)
3111177V =>2V 54.0 (72 43 | B F=—fE
T wLINEry b BiYaUIy b BRT 7 — L
= . s 3 | HllmR 1:16.7 4-3 40.6| — 9 431 | BEEZ (K#H)
4(8(13|77LF v~ 54.0 (") 7y | PR
L7 RIA4Y<Ty 72 B:74 )y 23Xk fx FE
S, t 3 | BARE 1:16.7 10-10  [39.6| — 2 488 | ETEH (\F)
517111 o/ g 56.0 (NF) +18) IEJ;‘.:.:}1
Z:Aa—-uvivsFr4f4a B I ST — J—AH—-F>
= # 3 | KBNS 1:16.8 1-11 39.6| — 7 M4 | FEAE (KH)
6 774 bFAHY~< 56.0 (1/2) @) | B s
R:NX—pNK B:T5%v b LalliEae
3 B3 | HHE 1:17.0 14-14 | 37.9| — 8 420 |1EEEE (KH)
4 ] I/ U a AN52.0 (1 1/4) (+9) FEEMET
R:7v3iI7—L B:ew7K-) MHEB RS
5 4 3 | HIHE 1:17.3 2-2 N5 — 5 460 | WMBFNIR (KH)
14| ¥749 Y3 54.0 (' 1/2) (+13) | LA
RN E L= BiYTxRy Y YNIY LT T — L
. [EE-FN 7. - . — BEEL (/)
NEDEL S = 4 3 o 1(31/74)5 1-1 4.7 4 39) men
LT R4 YHF -5 B:yH)— N
—\N= - f 3 | REMEE 1:17.7 6-6 “n.o0| — 1| 501 |HEAAR—K (K¥#)
1008 10 /\_/\_/§—45_— . 54.0 (1 1/4) (o) | PEH—RE
R:F1—TTVI 7 BEITLAN-—FZ— FRE%S
N s 3 | HIIE 1:17.8 9-8 40.8| — 1 468 | KEFI (KH)
1108 5 T oIN—E—F 54.0 (7€) 0 INNEE R
R:T—9TH—R BATFNYE—F =¥ Ty — L
. ¢ PR ZE 7. - . — BARE (%)
1ol o | FTV -y 4 3 o 171{:? 13-13 | 39.5 14 (4_0; i
L:7Rv4 vV —-> BAYOTFTAANT attie ]
= S 4 3 | AIRER 1:17.9 6-6 a2 — 12 458 | FEIAR (KH)
13[5|7 | AF—TANAR 5.0 (7€) o) | BAIEF
L:BALINT Ry ZZX B:¥xa—b7H> =KE BB
SRS o B3 | AEISE 1:18.9 3-4 428 — | 10 | 420 |FEFESE (KH)
147 12| SZATN—Fa 54.0 (5) o | 08 BEER
L1 bPLy IR BTz xFT7LLY R pliEie)
® 1—F—@EBIERL
13—7-—
2a=5F=
Ja=5= 3,14,12,13,8,(7,10),1,5,11,6,2,9,4
43—7F— |3,14,13,12,8,(7,10),(1,5),11,6,2,9,4
[ N5
B 8 560M 714K 2-8 1,370 e E 2-5 2,340M JEE 1-2-8 50,490/
B B 8 230M 1-8 5,960/ e B 5-2 4,050 3EE 8-2-1 137,140M
2 300H 1-2 5,030/ B & 2-8 2,970M
1 990M B H 8-2 5,450/

ABICOVWTRDTEEERROODE. TR LIV,




